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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER- 1,2(NEW) EXAMINATION -SUMMER-2020

Subject Code: 3311101 Date: 07-11-2020
Subject Name: Electronic Components & Practice
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Y& 012 U2, Remarks Hi5
Q.1 MCQ/Fill in the blanks (Attempt All Questions) 5
U2, MCQ/UIEL 55021 MU AAHL 5% Uel Ll SYAUOL DAL 52994 1) u
1) Unit of inductance is (A) ohm (B) Henry (C) Farad
(1) Hesezdlafdz 9 (A) vlisH (B) ¢dl (C) 5214
2 is active device.(A) Resistor (B) inductor (C) Transistor
(2) 2529 [RAHU 9(A) 2222 (B) ©3522 (C) 2W[orz22
3) Transistor has terminal (A) 1 (B) 2 (C) 3
(3) alloyzaz . 2[Add 89 (A) 215 (B) 4 (C) A0
4) Ripple Factor of half wave rectifieris__ (A) 1.21 (B) 2.24 (C) 1
(%) $ls Ad As25142 AL Rua 5522 9(A) 1.24(B) 2.¥2(C) 1
(5) ____configuration provides highest voltage gain(A)CC(B)CE(C)CB
(u) _ si[esaRaqzdig] 94, diezsy dl2ug(A)CC(B)CE(C)CB
Q.2 Answer the following questions.(Any 6 out of 9)
U8A2 {12l UrALAL oxaALoL 241U (< Hid] 515w <) 12
12
1) Explain basic function of Relay.
(1) (& 4 oll4s s594 AHMAl
(2 Define (1) PIV (2) Ripple Factor
(2) el UL (1) PIV (2) Rud 5522
3) Give specification of Cables.
(3) 5019 AL 2U[A[5594 20Ul
4) State advantages of SMD.
(¥) SMD <L 51481 sYBlAl
5) Why filters are needed?
(u) (5e22 il ov3la1d 51 €9 2
(6) State function of Fuse.
(=) S, < §59 oyRudl

@) Draw half wave rectifier
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$lg Ad 2525142 2Rl

Give application of co-axial cable.

512 [82e 504G <AL BUALLL Bl

Give advantages of Monolithic IC.

Hicl[@25 IC <L 5142l syRuAl

Answer the following questions.(Any 4 out of 7)
<{l2AeAL UzeAledl sxaLoL 2L (2 Hidl 515 urL 4)
Explain working of wire wound resistor.

QAR UGy 2222 YHMAL

Explain working of CE configuration of transistor.

2UR4z23 L CE silgoRa14 «{l s1Aughld uaumal
Explain Thik film IC technology.

ls (e IC 25dldloy uHomdl

Write short note on Push button type switch.
Y9l 6124 (R4 UR Z5lls @vil

Explain optical fiber cable.

wi[L25@ 519642 5018 AHMAL

Give classification of Relay

(R4 < aoilsze 20l

Draw and explain working of LC filter.

LC (€22 €12) e s10Ueg(d yHomdl
Answer the following questions.(Any 3 out of 6)
<2l UeAleAl sxaL01 2AL (S HidL 51wl 3)
Explain BNC Connector with diagram.

BNC 51522 SPAAIH A1 AHMAL

Explain electromagnetic relay with diagram.
DAszIHA[25 RQ UM U1 AHMAL

Explain working of PN Junction diode in forward bias.

PN x50 81218 <Al 51298 o114 1i sUiugtfd u4omdl
Explain bridge rectifier.

[aasy 2[525012 AMAl
Explain electrolytic capacitor.
DasZialZls sulizz uHmal

Explain hybrid IC.
S1(61s 1C UHMAl

Answer the following questions.(Any 3 out of 6)
<2l UzeAleAL sraLoL 2AL (5 Hidl 5195 uRL 3)

Derive relation between a and B for transistor
2Uerz22 Al vt B A 4 Yt dRAL

Explain MICA Capacitors.

HIH51L 5URIZR YHMAl

Write a short note proximity switch.

UsALMZ] R uR 25l @vil
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(4) Write a short note solid state relays.

(%) Alels 222 (26 Uz 25l @vil
(5 Write a short note on RJ-45 connector.
W) RJ-45 54522 UR 254 QUil
(6) Explain construction, working ,Characteristic and application of LDR.
(=) LDR < 5e2259,, s1ugi(d qlaPisdl 21 GuAiol dHmal
Q.6 Answer the following questions.(Any 2 out of 4) 14

U< - - - o 1Y
L2l UgeAledl sraLoL 2UL (7 Higl 5195 ueL 2)

1) Explain Air core inductance.

(1) 212 512 D522 AHMal

2 Explain full wave rectifier. Derive any three parameters.
(2) 44 Us25la2 AHMALSISURL 3URIHL22 U4, 531

(3) Explain resistor color coding technique with example.
(3) 222 < 542 51[20 Gelsw Uled Aumdl

(4) Explain Carbon Film Resistors

(%) 5100 (364 2223 YHmMAl
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